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WALT: Recallb the 3, & and 8 times table.
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Counting in 3s




| x3 =3
2x3=6
3x3=9
b x3=12 hitps://wwwwyoutubecom/watch? w=t03yW /Oxsoc
5x3-=15
6x3-18
7 x3 =2l
8 x 3 =24
Qx 3-=27
10 x3 =30
Il x3 =33
12 x 3 =36




Let’s:counbforwwd&and;baobmm\d&wﬁ-’s:

Counting in 4s




12

16

20

24

28

32

36

40

44

48

| x 4 - 4
2xh -8
3x4-12
b xb-16
5x & -20
6 x 4 =24
7 x4 -28
8 x 4 -32
9x 4 -36
10 x4 - 40
Il x & - 44
12 x 4 - 48

https://www.youtube.com/watch?v=8QU_ EOu-tP4




Let’srwunbﬁorwqrd&andfbﬂdzwm\d&wg&

Counting in 8s




16 24

32

40 | 48 56 | 64 |72 |80 |88 |96

Ix8-8

2x8-16
3x8-24
b x8-32
5x 8 -40
6x8-48
7x 8 =56
8 x 8 - 64
9x8-72
10 x8 - 80
Il x8 - 88
2 x 8 - 96

https://www.youtube.com/watch?v=SNFXWEXaCQw




Whiite out the answers to
the 3, & and 8 times
table in your book. These



Fluency
Ccpy;outea&uqueshmand;wnwplet&th&wlmlﬂhon&

[

| |3k - 21 |0 & -
c|o=8 - 22| S x4 -
3]9%3 - 23| A% 8 -
b |12 % & - 2l 323
> |8= /- 257 w & -
6 6=k - 26 | 11 % 8 -
7 {113 - 718 <3
8 |4k - 28 | 10 = & -
A[3=8- 29 | 4 » 8 -
0] 7 =3 - 30| 6 % 3 -
I |8 & - TR
12 |8 %8 - 2loos.-
13]12%8 - 33[12 %3 -
& |53 - 34 | 11 & -
15| Q x & - =1 <8.-
16|12 % 8 - 2612 <3
17 |10 % 3 - Fe2 F
18 |2 0 & - 2810 2 3-
9[6%8 - 39]10 %8 -
20| 8 % 3 -




Fluency answers

3wk = |2

> w8 =40

2l

Owéd =0

Qw3 =27

22

5 x4 - 20

12 % & - 48

23

Q8 =72

8 %/ =56

24

3%w3=9

6w = 24

£

I w b =28

Il 3 =33

26

Il = 8 = 88

b b =16

27

8%3-=-24

Ol | WM =—

3x8-24

28

10 % 4 - 40

723 -2l

29

4 % 8 = 32

8 w4 = 32

30

6w 3=18

8 w8 = 64

3l

| o &4 = &

28 =16

32

Ox8=-0

2% 3 =15

a3

12 % 3 = 36

q = 4 = 36

34

I s & = 44

12 = 8 - 96

35

| =8 - 8

10 % 3 - 30

36

2»xw3=6

2wwh -8

37

|l wéh =4

6x8-48

38

0x3=-0

8 w3 - 24

39

IO = 8 - 80




Reasoning |

Re@soningZ

| have forgotten what Y
4x4is &3

-

Is Mo correct? Explain why.

Reasoning 3

Explain why

All the numbers in the 8
times table are even.

Jack says,
“The answer is more than 3 x 4"

Complete the calculation to prove this.
4xX4=3xX4+__

Mo says,

“The answer is 4 less than 5 x 47
Complete the calculation to prove this.
4x4=__x4—__

Teddy says,

“The answer is double 2 x 4"
Complete the calculation to prove this.

Ax4=_x4xX_

Whose idea do you prefer? Why?

Reasoning &
On a blank hundred square, colour

multiples of 8 red and multiples of 4
blue.

Always, Sometimes, Never
» Multiples of 4 are also multiples of 8

*» Multiples of 8 are also multiples of 4



Problem soluing | Problem solving 2

Which part below does not show

Start this rhythm: counting in fours?
Clap, clap, click, clap, clap, click. % o
A+4+4+4 %
Carry on the rhythm, what will you do on % %
the 15th beat?
coee
How do you know?
g eoee | °]"
What will you be doing on the 20th beat? o o o o
Explain why.

Explain your answer.

Pr\oblmsolm'ngé

Rosie has some packs of cola which are
in a box.

Some packs have 4 cans in them, and
some packs have 8 cans in them.

Rosie's box contains 64 cans of pop.

How many packs of 4 cans and how
many packs of 8 cans could there be?

Find all the possibilities.



4 x4 R i 3
| have forgotten what o M
4xdis L sl
Jack says, 1 16
“Theet anseer i more than 3 X 4°
Complete tha calculation to prove this
Ax4=3x44_ ax4 All the numbers in the 8
=5x4-4 . .
Mo says, =20-4 @ times table are even.
“The answer i 4 less than 5 x 4° =16
Complete the calculation to prove this
Axdm_xd=_ Explain why
i x4
AR Ny, =2xdx2

“The angwer i double 2 % 47
=15

Complete the caleulation bo prove this

A s dm_ M _

‘Whose idea do you prefer? Why?

On a blank hundred square, colour
multiples of 8 red and multiples of 4
blue.

Always, Sometimes, Never

* Multiples of 4 are also multiples of 8

» Multiples of 8 are also multiples of 4

1) Sometimes, every
other multiple of 4 is
also a multiple of 8
The ones in between
aren't because the
jumps are smaller
than 8

2) Always - Bis a
multiple of 4
therefore all multiples
of 8 will be multiples
of 4

When you add an
even number to an
even number you
always make an even
number.

The 8 times table is
repeated addition so
keeps adding an even
number each time.



Pr\oblmsolm:‘xg/anwer\&

Start this rhythm:
Clap, clap, click, clap, clap, click.

Carry on the rhythm, what will you do on
the 15th beat?

How do you know?
What will you be doing on the 20th beat?

Explain your answer.

Clicks are
multiples of three.

On the 15th beat, |
will be clicking
because 15 is a
multiple of 3

On the 20th beat, |
will be clapping
because 20 is not
a multiple of 3

Rosie has some packs of cola which are

in a box.

Some packs have 4 cans in them, and
some packs have 8 cans in them.

Rosie's box contains 64 cans of pop.

How many packs of 4 cans and how
many packs of 8 cans could there be?

Find all the possibilities.

Which part below does not show

counting in fours?

Explain why.

Possible answers:

e 2 packs of 4, 7
packs of 8

e 4 packs of 4, 6
packs of 8

e 6 packs of 4,5
packs of 8

« 8 packs of 4, 4
packs of 8

* 10 packs of 4, 3
packs of 8

¢ 12 packs of 4, 2
packs of 8

* 14 packs of 4, 1
pack of 8

The place value
counters do not
show counting in
fours because
each part has 3 in
so it is counting in
threes.



